EAGRAROBREERT — 2 N— ABISH —F

20195108270 (H) 3mE#HE6H

3R XA

1752 EFRFER

‘ [Rfg] 2 ‘ [SEERR]  — | 4 (E) 1800M &

[A~&£] 1 7% :7,500,000  ~ 23 :3,000,000 ™ 37 :1,900,000F 43 :1,100,000  ~ 5 j& :750,000 F

& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
— « . FAFF AR :51. 02— . . BORME (355#)
1lglo| Ty K7~y K [B] i3 5% 1(52)7 2-2-2-1 |36.6| 98.9 | 1 :1_788) R R
LN=YT754 B:NA ho~RA (B) #B—-FKL—->ya3>@qE77
) BERER :52. —4-3- . . JFtEE (BER)
255 TIWLF LD 9 5%.0 1(552)7 6433 | 37.4) 88.8 6 (4_928) [ES &
VUK YIYRIR B2 HI/RT1—K HREMFREL A/ T7— L
S _ 5 4 3 | HlEs 1:52.9 2-3-3-3 |37.6| 86.0 | 2 474 | M ()
3111 7—YEN ¥¢54.0 A 1/4) 4y | B U-T7
LiXLGARZN BiFvy M- =RIERYS
o BEHXtF : -9-6- PANIEFE (/)
4 o|2Aq/Fayix— i o4 L 1.(513).1 9-9-6-5 |37.5| 85.3 | 3 ?8)2 e
L:NZ—ka21—X B:T7471T7E— = RWE
. N “ [izg apidich :53. —4-5- . . ARG (ER)
5 NEEOFLE 2D # 3 Gl 1(523)4 4-4-5-6 | 37.9] 80.9 | 7 20) i
R:drh—o B:NZFUB N7 7 — L
. o5 | AMREX 1:53.4 1-1-1-2 | 38.3| 81.2 | 4 488 | /NE—B (EiH)
6|8[10/®FzU—FU b 454.0 (75%) o |
LHLTAN—F B:X3uTILAR BET 7 — L
< A i o4 | BRR 1:53.8 7-8-9-8 | 37.9| 78.0 | 10 | 474 |#@E#E (FF)
71718 RAHT—=7 7T 57.0 (2 1/2) (+2) KFFRER
LW=F—=29 7 BTITRITILY it e]
— N en PEIlIES 5PN ~6-6- BF— (£#)
8 NEIEPE DR it 4 2l 1 (554)7 5-6-6-7 |39.0| 70.5 | 8 zg)e %g’g%
R:J7—3IU7> B:5 914X FyT BpEEUE e
= 5 = .2 t 5 | FR—M 1:55.4 7-7-6-8 | 39.7| 65.5 | 9 498 | BIHMIL (i)
1 : DEEEAEArEN ) * X86.0 @ 4 W) JN<oF 53Ty KR
L=V FILTya B:FvI24 Ay -vie )
S,® ERAR :56. -10-9 . . HEZ (BER)
N FIETE R Z. 4t 3 Rt 1 (5(3 4 10-10-9-8 | 40.5 | 58.6 | 5 (fg) e
LG4 7 T—IWEY BT x>T1HhR J—HrTr—LA
@ 21 L
£y 49.0-36.6
NA>aA L | 12.4-11.8-13.2-13.1-12.2-12.4-12.6-12.0-12.0
@ I—F—@EBIERL
| S=7r= 10(1,9)3,4,5(8,6)2-7
20—4— 10,9,1(3,5)4,6,8,2,7
3a—+— (¥10,9) (1,5)3(4,2,6) (8,7)
43—F— (10,%9) (1,5)2,3,4(8,7,6)
[ N5
B 9 180M 794K 5-9 450/ & 5-8 1,310M &R 1-5-9 1,190
# B 9 110 1-9 180M B E 5-9 1,640M EE 9-5-1 6,340
5 220M 1-5 500 B H 9-5 2,180
1 1209

ABRICOVTHRTEEERROODE, THEB LS,




